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#include <stdio.h>

/* IR E TR EECS | map CEE */

int map[5]1[51 ={{1,%,1,1,1},
{1,0,0,1,1},
{1,0,1,1,1},
{1,0,0,2,1},
{1,1,1,1,1%};

/HRRBE D y AT x FUH U —F gD RN, Wi b 1, LM 0 258388k +/
int reach{int m[5][5], int vy, int x )} {
if ( [7) ) { /7y AT 2 FUBEENER 2 B,
return{9d); '
h .
if (m{yllxl == 2) { //T—=2D,
return(1l);

} |
m{y][x] = 3; //BBE2B.
if ¢ 41 || (2} || [=] || (#] ) ¢

/I ETFERD ERR Y —Faiedis b,
m{y]lx] = 2;: // viTx#b U —F7ATHE.
“return(l);

1
return(0); //V—FAEETIX220.

J* RALN—F L x/
void main(}{
reach(map, 1, 1);



